



Symmetric identities of higher-order degenerate q -Euler polynomials

Dae San Kim^a, Taekyun Kim^{b,*}

^aDepartment of Mathematics, Sogang University, Seoul 121-742, Republic of Korea.

^bDepartment of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea.

Communicated by Seog-Hoon Rim

Abstract

In this paper, we study the higher-order degenerate q -Euler polynomials and give some identities of symmetry on these polynomials derived from symmetric properties for certain multivariate fermionic p -adic q -integrals on \mathbb{Z}_p . ©2016 All rights reserved.

Keywords: Symmetry, identity, higher-order degenerate q -Euler polynomial.

2010 MSC: 11B75, 11B83, 11S80.

1. Introduction

Let p be an odd prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of the algebraic closure of \mathbb{Q}_p . The p -adic norm is normalized so that $|p|_p = \frac{1}{p}$. Let q be an indeterminate in \mathbb{C}_p such that $|1 - q|_p < p^{-\frac{1}{p-1}}$. The q -analogue of the number x is defined as $[x]_q = \frac{1 - q^x}{1 - q}$. Note that $\lim_{q \rightarrow 1} [x]_q = x$. Let $f(x)$ be a continuous functional \mathbb{Z}_p . Then, the fermionic p -adic q -integral on \mathbb{Z}_p is defined by Kim as

$$\begin{aligned} \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) &= \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{-q}} \sum_{x=0}^{p^N-1} f(x) (-q)^x \\ &= \frac{[2]_q}{2} \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) q^x (-1)^x, \quad (\text{see [12, 14]}), \end{aligned} \quad (1.1)$$

*Corresponding author

Email addresses: dskim@sogang.ac.kr (Dae San Kim), tkkim@kw.ac.kr (Taekyun Kim)

where $[x]_{-q} = \frac{1-(-q)^x}{1+q}$.
 Note that

$$\begin{aligned} \lim_{q \rightarrow 1} \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) &= \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) (-1)^x \\ &= \int_{\mathbb{Z}_p} f(x) d\mu_{-1}(x) \end{aligned} \tag{1.2}$$

is the ordinary fermionic p -adic integral on \mathbb{Z}_p .

From (1.1), we can easily derive the following equation:

$$q^n \int_{\mathbb{Z}_p} f(x+n) d\mu_{-q}(x) + (-1)^{n-1} \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) = [2]_q \sum_{x=0}^{n-1} f(x) (-1)^{n-1-x}, \tag{1.3}$$

and

$$q \int_{\mathbb{Z}_p} f(x+1) d\mu_{-q}(x) + \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) = [2]_q f(0), \quad (\text{see [14]}). \tag{1.4}$$

As is well known, the higher-order Euler polynomials are defined by the generating function

$$\left(\frac{2}{e^t + 1} \right)^r e^{xt} = \sum_{n=0}^{\infty} E_n^{(r)}(x) \frac{t^n}{n!}. \tag{1.5}$$

When $x = 0$, $E_n^{(r)} = E_n^{(r)}(0)$ are called the higher-order Euler numbers (see [1]–[23]).

From (1.2), we note that

$$\begin{aligned} \int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} e^{(x_1+\dots+x_r+x)t} d\mu_{-1}(x_1) \dots d\mu_{-1}(x_r) &= \left(\frac{2}{e^t + 1} \right)^r e^{xt} \\ &= \sum_{n=0}^{\infty} E_n^{(r)}(x) \frac{t^n}{n!}. \end{aligned}$$

Carlitz considered q -Bernoulli numbers defined by the recurrence relation

$$\beta_{0,q} = 1, \quad q(q\beta_q + 1)^n - \beta_{n,q} = \begin{cases} 1, & \text{if } n = 1, \\ 0, & \text{if } n > 1, \end{cases} \tag{1.6}$$

with the usual convention about replacing β_q^n by $\beta_{n,q}$ (see [4]).

In [12, 14], Kim defined Carlitz’s type q -Euler numbers given by

$$\mathcal{E}_{0,q} = 1, \quad q(q\mathcal{E}_q + 1)^n - \mathcal{E}_{n,q} = [2]_q \delta_{0,n}, \tag{1.7}$$

where $\delta_{n,k}$ is the Kronecker’s symbol.

Recently, the higher-order q -Euler polynomials are defined by the multivariate fermionic p -adic q -integral on \mathbb{Z}_p

$$\int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} e^{[x_1+\dots+x_r+x]_q t} d\mu_{-q}(x_1) \dots d\mu_{-q}(x_r) = \sum_{n=0}^{\infty} \mathcal{E}_{n,q}^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see [14]}). \tag{1.8}$$

When $x = 0$, $\mathcal{E}_{n,q}^{(r)} = \mathcal{E}_{n,q}^{(r)}(0)$ are called the higher-order q -Euler numbers. In particular, $r = 1$, then $\mathcal{E}_{n,q}^{(1)}(x) = \mathcal{E}_{n,q}(x)$.

From (1.8), we have

$$\int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} [x_1 + \dots + x_r + x]_q^n d\mu_{-q}(x_1) \dots d\mu_{-q}(x_r) = \mathcal{E}_{n,q}^{(r)}(x) \tag{1.9}$$

$$\begin{aligned}
 &= \frac{1}{(1-q)^n} \sum_{l=0}^n \binom{n}{l} (-1)^l \left(\frac{[2]_q}{1+q^{l+1}} \right)^r q^{lx} \\
 &= [2]_q^r \sum_{m_1, \dots, m_r=0}^{\infty} (-q)^{m_1+\dots+m_r} [m_1+\dots+m_r+x]_q^n,
 \end{aligned}$$

where $r \in \mathbb{N}$ and $n \geq 0$.

By (1.9), we get the generating function of the higher-order q -Euler polynomials as follows:

$$\begin{aligned}
 &[2]_q^r \sum_{m_1, \dots, m_r=0}^{\infty} (-q)^{m_1+\dots+m_r} e^{[m_1+\dots+m_r]_q t} \\
 &= \sum_{n=0}^{\infty} \mathcal{E}_{n,q}^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see [14, 15]}).
 \end{aligned} \tag{1.10}$$

Carlitz introduced the higher-order degenerate Euler polynomials given by the generating function

$$\left(\frac{2}{(1+\lambda t)^{\frac{1}{\lambda}} + 1} \right)^r (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \mathcal{E}_n^{(r)}(x | \lambda) \frac{t^n}{n!}. \tag{1.11}$$

When $x = 0$, $\mathcal{E}_n^{(r)}(x) = \mathcal{E}_n^{(r)}(0 | \lambda)$ are called the higher-order degenerate Euler numbers (see [5]). In particular, $r = 1$, $\mathcal{E}_n^{(1)}(x | \lambda) = \mathcal{E}_n(x | \lambda)$ are called degenerate Euler polynomials.

Note that $\lim_{\lambda \rightarrow 0} \mathcal{E}_n^{(r)}(x | \lambda) = E_n^{(r)}(x)$, ($n \geq 0$).

In this paper, we study the higher-order degenerate q -Euler polynomials and give some identities of symmetry on these polynomials derived from symmetric properties for certain multivariate fermionic p -adic q -integrals on \mathbb{Z}_p .

2. Symmetric identities of higher-order degenerate q -Euler polynomials

Let $\lambda, t \in \mathbb{C}_p$ be such that $|\lambda t|_p < p^{-\frac{1}{p-1}}$. From (1.2) and (1.3), we note that

$$\begin{aligned}
 \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x_1+\dots+x_r+x}{\lambda}} d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) &= \left(\frac{2}{(1+\lambda t)^{\frac{1}{\lambda}} + 1} \right)^r (1+\lambda t)^{\frac{x}{\lambda}} \\
 &= \sum_{n=0}^{\infty} \mathcal{E}_n^{(r)}(x | \lambda) \frac{t^n}{n!}.
 \end{aligned} \tag{2.1}$$

In view of (1.8), we define the higher-order degenerate q -Euler polynomials by the generating function as

$$\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{1}{\lambda}[x_1+\dots+x_r+x]_q} d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) = \sum_{n=0}^{\infty} \mathcal{E}_{n,q,\lambda}^{(r)}(x) \frac{t^n}{n!}. \tag{2.2}$$

Thus, by (2.2), we get

$$\lim_{\lambda \rightarrow 0} \mathcal{E}_{n,q,\lambda}^{(r)}(x) = \mathcal{E}_{n,q}^{(r)}(x), \quad (n \geq 0).$$

From (2.2), we can derive

$$\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} ([x_1+\dots+x_r+x]_q)_{n,\lambda} d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) = \mathcal{E}_{n,q,\lambda}^{(r)}(x), \quad (n \geq 0), \tag{2.3}$$

where

$$([x]_q)_{n,\lambda} = [x]_q ([x]_q - \lambda) ([x]_q - 2\lambda) \cdots ([x]_q - (n-1)\lambda), \quad (n \geq 1)$$

and $\left([x]_q\right)_{0,\lambda} = 1$.

By (2.3), we get

$$\begin{aligned} \mathcal{E}_{n,q,\lambda}^{(r)}(x) &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left([x_1 + \cdots + x_r]_q\right)_{n,\lambda} d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) \\ &= \sum_{l=0}^n S_1(n, l) \lambda^{n-l} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} [x_1 + \cdots + x_r + x]_q^l d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) \\ &= \sum_{l=0}^n S_1(n, l) \lambda^{n-l} \mathcal{E}_{l,q}^{(r)}(x), \end{aligned} \tag{2.4}$$

where $S_1(n, l)$ is the Stirling number of the first kind.

From (1.9) and (2.4), we have

$$\mathcal{E}_{n,q,\lambda}^{(r)}(x) = [2]_q^r \sum_{l=0}^n \sum_{m_1, \dots, m_r=0}^{\infty} (-q)^{m_1 + \cdots + m_r} [m_1 + \cdots + m_r + x]_q^l S_1(n, l) \lambda^{n-l}. \tag{2.5}$$

Therefore, by (2.4), we obtain the following theorem.

Theorem 2.1. *For $n \geq 0$, we have*

$$\begin{aligned} \mathcal{E}_{n,q,\lambda}^{(r)}(x) &= \sum_{l=0}^n S_1(n, l) \lambda^{n-l} \mathcal{E}_{l,q}^{(r)}(x) \\ &= [2]_q^r \sum_{l=0}^n \sum_{m_1, \dots, m_r=0}^{\infty} (-q)^{m_1 + \cdots + m_r} [m_1 + \cdots + m_r + x]_q^l S_1(n, l) \lambda^{n-l}. \end{aligned}$$

Now, we observe that

$$\begin{aligned} [2]_q^r \sum_{l=0}^n \sum_{m_1, \dots, m_r=0}^{\infty} (-q)^{m_1 + \cdots + m_r} [m_1 + \cdots + m_r + x]_q^l S_1(n, l) \lambda^{n-l} \\ = [2]_q^r \sum_{m_1, \dots, m_r=0}^{\infty} (-q)^{m_1 + \cdots + m_r} \left([m_1 + \cdots + m_r + x]_q\right)_{n,\lambda}. \end{aligned} \tag{2.6}$$

Thus, by (2.6), we get

$$\begin{aligned} \sum_{n=0}^{\infty} \mathcal{E}_{n,q,\lambda}^{(r)}(x) \frac{t^n}{n!} &= [2]_q^r \sum_{m_1, \dots, m_r=0}^{\infty} (-q)^{m_1 + \cdots + m_r} \sum_{n=0}^{\infty} \frac{\left([m_1 + \cdots + m_r + x]_q\right)_{n,\lambda} t^n}{n!} \\ &= [2]_q^r \sum_{m_1, \dots, m_r=0}^{\infty} (-q)^{m_1 + \cdots + m_r} (1 + \lambda t)^{\frac{[m_1 + \cdots + m_r + x]_q}{\lambda}}. \end{aligned} \tag{2.7}$$

Therefore, by (2.7), we obtain the following theorem.

Theorem 2.2. *For $r \in \mathbb{N}$, we have*

$$\sum_{n=0}^{\infty} \mathcal{E}_{n,q,\lambda}^{(r)}(x) \frac{t^n}{n!} = [2]_q^r \sum_{m_1, \dots, m_r=0}^{\infty} (-q)^{m_1 + \cdots + m_r} (1 + \lambda t)^{\frac{[m_1 + \cdots + m_r + x]_q}{\lambda}}.$$

By replacing t by $\frac{1}{\lambda}(e^{\lambda t} - 1)$ in (2.2), we get

$$\int_{\mathbb{Z}_p} e^{[x_1+\dots+x_r+x]_q t} d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) = \sum_{m=0}^{\infty} \mathcal{E}_{m,q,\lambda}^{(r)}(x) \lambda^{-m} \frac{(e^{\lambda t} - 1)^m}{m!} \tag{2.8}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \lambda^{n-m} \mathcal{E}_{m,q,\lambda}^{(r)}(x) S_2(n, m) \right) \frac{t^n}{n!},$$

where $S_2(n, m)$ is the Stirling number of the second kind.

Therefore, by (1.8) and (2.8), we obtain the following theorem.

Theorem 2.3. *For $n \geq 0$, we have*

$$\mathcal{E}_{n,q}^{(r)}(x) = \sum_{m=0}^n \lambda^{n-m} \mathcal{E}_{m,q,\lambda}^{(r)}(x) S_2(n, m).$$

Let $w_1, w_2 \in \mathbb{N}$ be such that $w_1 \equiv 1, w_2 \equiv 1 \pmod{2}$. Then, by (2.2), we get

$$\begin{aligned} & \frac{1}{[w_1]_{-q}^r} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{[w_1 w_2 x + w_2 \sum_{l=1}^r j_l + w_1 \sum_{l=1}^r y_l]_q}{\lambda}} d\mu_{-q^{w_1}}(y_1) \cdots d\mu_{-q^{w_1}}(y_r) \tag{2.9} \\ &= \frac{1}{[w_1]_{-q}^r} \lim_{N \rightarrow \infty} \sum_{y_1, \dots, y_r=0}^{p^N-1} \frac{1}{[p^N]_{-q^{w_1}}^r} (1 + \lambda t)^{\frac{[w_1 w_2 x + w_2 \sum_{l=1}^r j_l + w_1 \sum_{l=1}^r y_l]_q}{\lambda}} \\ & \quad \times (-q^{w_1})^{y_1 + \dots + y_r} \\ &= \frac{1}{[w_1]_{-q}^r} \lim_{N \rightarrow \infty} \frac{1}{[w_2 p^N]_{-q^{w_1}}^r} \sum_{y_1, \dots, y_r=0}^{w_2 p^N-1} (1 + \lambda t)^{\frac{[w_1 w_2 x + w_2 \sum_{l=1}^r j_l + w_1 \sum_{l=1}^r y_l]_q}{\lambda}} \\ & \quad \times (-q)^{w_1 y_1 + \dots + w_1 y_r} \\ &= \frac{[2]_q^r}{2^r} \lim_{N \rightarrow \infty} \sum_{i_1, i_2, \dots, i_r=0}^{w_2-1} \sum_{y_1, \dots, y_r=0}^{p^N-1} (1 + \lambda t)^{\frac{[w_1 w_2 x + w_2 \sum_{l=1}^r j_l + w_1 \sum_{l=1}^r (i_l + w_2 y_l)]_q}{\lambda}} \\ & \quad \times (-1)^{y_1 + \dots + y_r} q^{w_1(i_1 + w_2 y_1) + w_1(i_2 + w_2 y_2) + \dots + w_1(i_r + w_2 y_r)} \times (-1)^{i_1 + \dots + i_r} \\ &= \frac{[2]_q^r}{2^r} \sum_{i_1, \dots, i_r=0}^{w_2-1} (-1)^{\sum_{l=1}^r i_l} q^{w_1 \sum_{l=1}^r i_l} \\ & \quad \times \lim_{N \rightarrow \infty} \sum_{y_1, \dots, y_r=0}^{p^N-1} (1 + \lambda t)^{\frac{[w_1 w_2 x + w_2 \sum_{l=1}^r j_l + w_1 \sum_{l=1}^r (i_l + w_2 y_l)]_q}{\lambda}} \\ & \quad \times (-1)^{y_1 + \dots + y_r} q^{w_1 w_2 y_1 + w_1 w_2 y_2 + \dots + w_1 w_2 y_r}. \end{aligned}$$

From (2.9), we note that

$$\begin{aligned} & \frac{1}{[w_1]_{-q}^r} \sum_{j_1, \dots, j_r=0}^{w_1-1} q^{w_2 \sum_{l=1}^r j_l} (-1)^{\sum_{l=1}^r j_l} \tag{2.10} \\ & \quad \times \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{[w_1 w_2 x + w_2 \sum_{l=1}^r j_l + w_1 \sum_{l=1}^r y_l]_q}{\lambda}} d\mu_{-q^{w_1}}(y_1) \cdots d\mu_{-q^{w_1}}(y_r) \\ &= \frac{[2]_q^r}{2^r} \lim_{N \rightarrow \infty} \sum_{i_1, \dots, i_r=0}^{w_2-1} \sum_{j_1, \dots, j_r=0}^{w_1-1} \sum_{y_1, \dots, y_r=0}^{p^N-1} (-1)^{\sum_{l=1}^r (j_l + i_l + y_l)} \end{aligned}$$

$$\begin{aligned} &\times q^{w_1 \sum_{l=1}^r i_l + w_2 \sum_{l=1}^r j_l + w_1 w_2 \sum_{l=1}^r y_l} \\ &\times (1 + \lambda t)^{\frac{1}{\lambda} [w_1 w_2 x + w_2 \sum_{l=1}^r j_l + w_1 \sum_{l=1}^r i_l + w_1 w_2 \sum_{l=1}^r y_l]_q}. \end{aligned}$$

On the other hand,

$$\begin{aligned} &\frac{1}{[w_2]_{-q}^r} \sum_{j_1, \dots, j_r=0}^{w_2-1} q^{w_1 \sum_{l=1}^r j_l} (-1)^{\sum_{l=1}^r j_l} \\ &\times \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{[w_1 w_2 x + w_1 \sum_{l=1}^r j_l + w_2 \sum_{l=1}^r y_l]_q}{\lambda}} d\mu_{-q^{w_2}}(y_1) \cdots d\mu_{-q^{w_2}}(y_r) \\ &= \frac{[2]_q^r}{2^r} \lim_{N \rightarrow \infty} \sum_{i_1, \dots, i_r=0}^{w_1-1} \sum_{j_1, \dots, j_r=0}^{w_2-1} \sum_{y_1, \dots, y_r=0}^{p^N-1} (-1)^{\sum_{l=1}^r (i_l + j_l + y_l)} \\ &\times q^{w_1 \sum_{l=1}^r j_l + w_2 \sum_{l=1}^r i_l + w_1 w_2 \sum_{l=1}^r y_l} \\ &\times (1 + \lambda t)^{\frac{1}{\lambda} [w_1 w_2 x + w_1 \sum_{l=1}^r j_l + w_2 \sum_{l=1}^r i_l + w_1 w_2 \sum_{l=1}^r y_l]_q}. \end{aligned} \tag{2.11}$$

Therefore, by (2.10) and (2.11), we obtain the following theorem.

Theorem 2.4. *Let $w_1, w_2 \in \mathbb{N}$ such that $w_1 \equiv 1 \pmod{2}$ and $w_2 \equiv 1 \pmod{2}$. Then, we have*

$$\begin{aligned} &\frac{1}{[w_1]_{-q}^r} \sum_{j_1, \dots, j_r=0}^{w_1-1} q^{w_2 \sum_{l=1}^r j_l} (-1)^{\sum_{l=1}^r j_l} \\ &\times \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{[w_1 w_2 x + w_2 \sum_{l=1}^r j_l + w_1 \sum_{l=1}^r y_l]_q}{\lambda}} d\mu_{-q^{w_1}}(y_1) \cdots d\mu_{-q^{w_1}}(y_r) \\ &= \frac{1}{[w_2]_{-q}^r} \sum_{j_1, \dots, j_r=0}^{w_2-1} q^{w_1 \sum_{l=1}^r j_l} (-1)^{\sum_{l=1}^r j_l} \\ &\times \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{[w_1 w_2 x + w_1 \sum_{l=1}^r j_l + w_2 \sum_{l=1}^r y_l]_q}{\lambda}} d\mu_{-q^{w_2}}(y_1) \cdots d\mu_{-q^{w_2}}(y_r). \end{aligned}$$

We observe that

$$\left[w_1 w_2 x + \sum_{l=1}^r j_l w_2 + \sum_{l=1}^r y_l w_1 \right]_q = [w_1]_q \left[w_2 x + \frac{w_2}{w_1} \sum_{l=1}^r j_l + \sum_{l=1}^r y_l \right]_{q^{w_1}}. \tag{2.12}$$

From (2.12), we have

$$\begin{aligned} &\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{1}{\lambda} [w_1 w_2 x + \sum_{l=1}^r j_l w_2 + \sum_{l=1}^r y_l w_1]_q} d\mu_{-q^{w_1}}(y_1) \cdots d\mu_{-q^{w_1}}(y_r) \\ &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{[w_1]_q}{\lambda} [w_2 x + \frac{w_2}{w_1} \sum_{l=1}^r j_l + \sum_{l=1}^r y_l]_{q^{w_1}}} d\mu_{-q^{w_1}}(y_1) \cdots d\mu_{-q^{w_1}}(y_r) \\ &= \sum_{n=0}^{\infty} \mathcal{E}_{n, q^{w_1}, \frac{\lambda}{[w_1]_q}}^{(r)} \left(w_2 x + \frac{w_2}{w_1} (j_1 + \cdots + j_r) \right) [w_1]_q^n \frac{t^n}{n!}. \end{aligned} \tag{2.13}$$

Therefore, by Theorem 2.4, (2.12) and (2.13), we obtain the following theorem.

Theorem 2.5. *For $n \geq 0$, $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$, we have*

$$\frac{[w_1]_q^n}{[w_1]_{-q}^r} \sum_{j_1, \dots, j_r=0}^{w_1-1} (-1)^{j_1 + \cdots + j_r} q^{w_2(j_1 + \cdots + j_r)} \mathcal{E}_{n, q^{w_1}, \frac{\lambda}{[w_1]_q}}^{(r)} \left(w_2 x + \frac{w_2}{w_1} (j_1 + \cdots + j_r) \right)$$

$$= \frac{[w_2]_q^n}{[w_2]_{-q}^r} \sum_{j_1, \dots, j_r=0}^{w_2-1} (-1)^{j_1+\dots+j_r} q^{w_1(j_1+\dots+j_r)} \mathcal{E}_{n, q^{w_2}, \frac{\lambda}{[w_2]_q}}^{(r)} \left(w_1 x + \frac{w_1}{w_2} (j_1 + \dots + j_r) \right).$$

From (2.3), we have

$$\begin{aligned} & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(\frac{1}{[w_1]_q} \right)^n \left([w_1]_q \left[w_2 x + \frac{w_2}{w_1} \sum_{l=1}^r j_l + \sum_{l=1}^r y_l \right]_{q^{w_1}} \right)_{n, \lambda} \\ & \quad \times d\mu_{-q^{w_1}}(y_1) \cdots d\mu_{-q^{w_1}}(y_r) \\ &= \sum_{l=0}^n S_1(n, l) \left(\frac{\lambda}{[w_1]_q} \right)^{n-l} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left[w_2 x + \frac{w_2}{w_1} \sum_{l=1}^r j_l + \sum_{l=1}^r y_l \right]_{q^{w_1}}^l \\ & \quad \times d\mu_{-q^{w_1}}(y_1) \cdots d\mu_{-q^{w_1}}(y_r) \\ &= \sum_{l=0}^n S_1(n, l) \left(\frac{\lambda}{[w_1]_q} \right)^{n-l} \sum_{i=0}^l \binom{l}{i} \left(\frac{[w_2]_q}{[w_1]_q} \right)^i [j_1 + \dots + j_r]_{q^{w_2}}^i q^{w_2(l-i) \sum_{k=1}^r j_k} \\ & \quad \times \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} [w_2 x + y_1 + \dots + y_r]_{q^{w_1}}^{l-i} d\mu_{-q^{w_1}}(y_1) \cdots d\mu_{-q^{w_1}}(y_r) \\ &= \sum_{l=0}^n \sum_{i=0}^l S_1(n, l) \lambda^{n-l} [w_1]_q^{l-n-i} [w_2]_q^i [j_1 + \dots + j_r]_{q^{w_2}}^i \\ & \quad \times q^{w_2(l-i) \sum_{k=1}^r j_k} \binom{l}{i} \mathcal{E}_{l-i, q^{w_1}}^{(r)}(w_2 x). \end{aligned} \tag{2.14}$$

Thus, by (2.14), we get

$$\begin{aligned} & \frac{[w_1]_q^n}{[w_1]_{-q}^r} \sum_{j_1, \dots, j_r=0}^{w_1-1} q^{w_2 \sum_{l=1}^r j_l} (-1)^{\sum_{l=1}^r j_l} \left(\frac{1}{[w_1]_q} \right)^n \\ & \quad \times \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left([w_1]_q \left[w_2 x + \frac{w_2}{w_1} \sum_{l=1}^r j_l + \sum_{l=1}^r y_l \right]_{q^{w_1}} \right)_{n, \lambda} d\mu_{-q^{w_1}}(y_1) \cdots d\mu_{-q^{w_1}}(y_r) \\ &= \frac{1}{[w_1]_{-q}^r} \sum_{l=0}^n \sum_{i=0}^l \binom{l}{i} S_1(n, l) \lambda^{n-l} [w_1]_q^{l-i} [w_2]_q^i \mathcal{E}_{l-i, q^{w_1}}^{(r)}(w_2 x) \tilde{T}_{l+1, i}^{(r)}(w_1 \mid q^{w_2}), \end{aligned} \tag{2.15}$$

where

$$\tilde{T}_{n, i}^{(r)}(w \mid q) = \sum_{j_1, \dots, j_r=0}^{w-1} (-1)^{j_1+\dots+j_r} [j_1 + \dots + j_r]_q^i q^{(n-i) \sum_{l=1}^r j_l}. \tag{2.16}$$

On the other hand,

$$\begin{aligned} & \frac{[w_2]_q^n}{[w_2]_{-q}^r} \sum_{j_1, \dots, j_r=0}^{w_2-1} q^{w_1 \sum_{l=1}^r j_l} (-1)^{\sum_{l=1}^r j_l} \left(\frac{\lambda}{[w_2]_q} \right)^n \\ & \quad \times \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(\frac{[w_2]_q}{\lambda} \left[w_1 x + \frac{w_1}{w_2} \sum_{l=1}^r j_l + \sum_{l=1}^r y_l \right]_{q^{w_2}} \right)_{n, \lambda} d\mu_{-q^{w_2}}(y_1) \cdots d\mu_{-q^{w_2}}(y_r) \\ &= \frac{1}{[w_2]_{-q}^r} \sum_{l=0}^n \sum_{i=0}^l \binom{l}{i} S_1(n, l) \lambda^{n-l} [w_2]_q^{l-i} [w_1]_q^i \mathcal{E}_{l-i, q^{w_2}}^{(r)}(w_1 x) \tilde{T}_{l+1, i}^{(r)}(w_2 \mid q^{w_1}). \end{aligned} \tag{2.17}$$

Therefore, by (2.15) and (2.17), we obtain the following theorem.

Theorem 2.6. For $n \geq 0$, $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$, we have

$$\begin{aligned} & \frac{1}{[w_1]_{-q}^r} \sum_{l=0}^n \sum_{i=0}^l \binom{l}{i} S_1(n, l) \lambda^{n-l} [w_1]_q^{l-i} [w_2]_q^i \mathcal{E}_{l-i, q^{w_1}}^{(r)}(w_2 x) \tilde{T}_{l+1, i}^{(r)}(w_1 | q^{w_2}) \\ &= \frac{1}{[w_2]_{-q}^r} \sum_{l=0}^n \sum_{i=0}^l \binom{l}{i} S_1(n, l) \lambda^{n-l} [w_2]_q^{l-i} [w_1]_q^i \mathcal{E}_{l-i, q^{w_2}}^{(r)}(w_1 x) \tilde{T}_{l+1, i}^{(r)}(w_2 | q^{w_1}). \end{aligned}$$

Remark 2.7. If we take $\lambda \rightarrow 0$, then we get

$$\begin{aligned} & \frac{1}{[w_1]_{-q}^r} \sum_{i=0}^n \binom{n}{i} [w_1]_q^{n-i} [w_2]_q^i \mathcal{E}_{n-i, q^{w_1}}^{(r)}(w_2 x) \tilde{T}_{n+1, i}^{(r)}(w_1 | q^{w_2}) \\ &= \frac{1}{[w_2]_{-q}^r} \sum_{i=0}^n \binom{n}{i} [w_2]_q^{n-i} [w_1]_q^i \mathcal{E}_{n-i, q^{w_2}}^{(r)}(w_1 x) \tilde{T}_{n+1, i}^{(r)}(w_2 | q^{w_1}). \end{aligned}$$

References

- [1] M. Abramowitz, I. A. Stegun, *Handbook of mathematical functions with formulas, graphs, and mathematical tables*, National Bureau of Standards Applied Mathematics Series, vol. 55, Washington, D.C., (1964). 1
- [2] S. Araci, M. Acikgoz, *A note on the Frobenius-Euler numbers and polynomials associated with Bernstein polynomials*, Adv. Stud. Contemp. Math. (Kyungshang), **22** (2012), 399–406.
- [3] A. Bayad, J. Chikhi, *Apostol-Euler polynomials and asymptotics for negative binomial reciprocals*, Adv. Stud. Contemp. Math. (Kyungshang), **24** (2014), 33–37.
- [4] L. Carlitz, *q-Bernoulli and Eulerian numbers*, Trans. Amer. Math. Soc., **76** (1954), 332–350. 1
- [5] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math., **15** (1979), 51–88. 1
- [6] R. Dere, Y. Simsek, *Applications of umbral algebra to some special polynomials*, Adv. Stud. Contemp. Math. (Kyungshang), **22** (2012), 433–438.
- [7] D. V. Dolgy, D. S. Kim, T. G. Kim, J. J. Seo, *Identities of symmetry for higher-order generalized q-Euler polynomials*, Abstr. Appl. Anal., **2014** (2014), 6 pages.
- [8] Y. He, S. Araci, H. M. Srivastava, M. Acikgoz, *Some new identities for the Apostol-Bernoulli polynomials and the Apostol-Genocchi polynomials*, Appl. Math. Comput., **262** (2015), 31–41.
- [9] Y. He, C. Wang, *New symmetric identities involving the Eulerian polynomials*, J. Comput. Anal. Appl., **17** (2014), 498–504.
- [10] K.-W. Hwang, D. V. Dolgy, D. S. Kim, T. Kim, S. H. Lee, *Some theorems on Bernoulli and Euler numbers*, Ars Combin., **109** (2013), 285–297.
- [11] J. H. Jin, T. Mansour, E.-J. Moon, J.-W. Park, *On the (r, q)-Bernoulli and (r, q)-Euler numbers and polynomials*, J. Comput. Anal. Appl., **19** (2015), 250–259.
- [12] T. Kim, *Symmetry of power sum polynomials and multivariate fermionic p-adic invariant integral on \mathbb{Z}_p* , Russ. J. Math. Phys., **16** (2009), 93–96. 1, 1
- [13] D. S. Kim, *Symmetry identities for generalized twisted Euler polynomials twisted by unramified roots of unity*, Proc. Jangjeon Math. Soc., **15** (2012), 303–316.
- [14] T. Kim, J. Y. Choi, J. Y. Sug, *Extended q-Euler numbers and polynomials associated with fermionic p-adic q-integral on \mathbb{Z}_p* , Russ. J. Math. Phys., **14** (2007), 160–163. 1, 1.4, 1, 1.8, 1
- [15] D. S. Kim, T. Kim, S.-H. Lee, J.-J. Seo, *Identities of symmetry for higher-order q-Euler polynomials*, Proc. Jangjeon Math. Soc., **17** (2014), 161–167. 1
- [16] D. S. Kim, N. Lee, J. Na, K. H. Park, *Identities of symmetry for higher-order Euler polynomials in three variables (I)*, Adv. Stud. Contemp. Math. (Kyungshang), **22** (2012), 51–74.
- [17] Q.-M. Luo, *q-analogues of some results for the Apostol-Euler polynomials*, Adv. Stud. Contemp. Math. (Kyungshang), **20** (2010), 103–113.
- [18] H. Ozden, Y. Simsek, S.-H. Rim, I. N. Cangul, *A note on p-adic q-Euler measure*, Adv. Stud. Contemp. Math. (Kyungshang), **14** (2007), 233–239.
- [19] S.-H. Rim, J. Jeong, *On the modified q-Euler numbers of higher order with weight*, Adv. Stud. Contemp. Math. (Kyungshang), **22** (2012), 93–98.
- [20] C. S. Ryo, *A note on the weighted q-Euler numbers and polynomials*, Adv. Stud. Contemp. Math. (Kyungshang), **21** (2011), 47–54.

-
- [21] E. Şen, *Theorems on Apostol-Euler polynomials of higher order arising from Euler basis*, Adv. Stud. Contemp. Math. (Kyungshang), **23** (2013), 337–345.
 - [22] Y. Simsek, *Interpolation functions of the Eulerian type polynomials and numbers*, Adv. Stud. Contemp. Math. (Kyungshang), **23** (2013), 301–307.
 - [23] N. Wang, C. Li, H. Li, *Some identities on the generalized higher-order Euler and Bernoulli numbers*, Ars Combin., **102** (2011), 517–528. 1